o ™A 2x o] 27127

O 25° @ 30° ® 55° @ 60° ®)65°

/x = 90° — 25° = 65°




kg TRolA A P o 441 1 Aol 9] Az S e AR A5
e,

45° 60’
'S 0 ® 00

rl r
R
e

N
N
=
o

A 13 AP Aol Ad=AA 1P E A
#e Aolmg o]t}




3. o O™”A x+ 2y 9 G2 Aokl

>
> " 103°

0.
I

X+ 15° + 87° + y — 25° = 180°
o Lx+ 2y = 103°




4. & ™A ,COD = 2x, /AOE = 4x 4 ], zx 9] 27|19

A

e
lesl

@ 12° @ 14° @15° @ 16° ® 18°

/AOE = /BOC = 4x O]|B2 4x +2x =90° .. /x=15°




The I3 Al 2 4o] thgat ol whd uf 7] B
DR
!
m
n
© 3% )24 ® 1%
@ gt 248 gt




the 1ol zx 2y 2z =3:4:11 D W, 22— sx O] L& Foteiet

i
o

[ 2
[> =l 80°

~&B \

11
/z = 180° x — = 110°
Z 80 ><18

3
= /zX — = 30° O|E=
lx=liX 30° o]

/7 — /x = 110° — 30° = 80° ©]|t}.




7. & A LAOC 9 I7)E Fotolet

x + 40° = 3x — 20°
x = 30°
. LAOC = x+40° = 70°




8. the 2RI 1m L W, za O] 27D

o
13— l

3x+11°

@® 125° @ 135° ® 145° @155" ® 165°

~&B

43° — x +90° + 3x + 11° = 180°

2x = 36°

Lo /x = 18°

WEZZLO] A7V EC B R /g =90° + 3x + 11° = 155°




e
O
e

@® 30° @ 36° @ 40° @45°

® 48°

~&B

/AOD + /DOB = 4/,COD + 4/DOE
= 4(,COD + /DOE)
= 4/COE = 180°

.. LCOE = 180° = 4 = 45°

.. LCOE = 45°

/AOC = 32COD °]E=2 /AOD = 4,COD o]t}




10. AlAC] 52t 2,5,9,11 & o]l A EE ¥
W2 5 7b 2 A obd 42 24e) 3719 g

> E.

o

> =g 30°

S o), A2 o] 4 7))
fofet,

E5
N

5
AA S BT FAA 2 A, 5
aod, 99 WMAE Polk BE 2

A, 9 Al 11 Alof] Bx
7}go] gH5 ol AT,

tonz 4 79 o]

1A17be]] gt ZA1Zbe] 27 3f‘2)

—30° o]B &
1
* = 2 (180° - 90°) = 45°
1
= 5(180° - 90°) = 45°
1
= 5 (180°~ 120°) = 30°
1 o o o
= 5 (180°~60°) = 60
webA], W2he] 27]4= 105°, 90°, 75°, 90° | 2=

A i o A ZH 37]9] A= 105° - 75° = 30°

Ag
H Ak

=




